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DIVISION 3

· Answer the following questions:

1) How many groups of 4 are there in 12 counters?

12 (4 =

2) 5 children can sit at one table.  How many tables are needed for 30 children?

30(5=

3) How many piles of 3 can be made form 24 cubes?

24(3=

4) I have a 50p.  How many children could have 5p each?

50(5=

5) How many teams of 4 can you make with 32 children?

6) Each car takes 2 people.  How many cars are needed for 12 people?

7) How many 2s are there in 46?

8) How many 4s are there in 48?

9) How many 3s are there in 42?

10) How many 5s are there in 75?
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DIVISION 1

Example:

10 ( 2 =  ?
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· Answer the following questions

1) There are 24 shoes.  How many pairs are there?

24(2=

2) 10 children can sit at one table.  How many tables are needed for 40 children?

40(10=

3) I have 10p.  How many children can have 2p each?

10(2=

4) A cook has 12 eggs, she needs two eggs to make a cake.  How many cakes can she bake?

12(2=
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DIVISION 2

· Answer the following questions:

1) How many lots of 2 are there in 18?

2) How many pairs of shoes does an octopus need?

3) How many 2p’s do I need to make a 20p?

4) Each bumper car seats 2 people.  How many cars are needed for 12 people?

5) How many lots of 2 are there in 40?

6) Sam has £1 how many 10p can he make?

7) If each brick is 10cm.  How many bricks will fit along a wall 2 metres long?

8) Farmer Giles has 70 eggs, each box fits 10 eggs.  How many boxes will he need?

9) Fred has 80 pencils, each packet holds 20 pencils.  How many packets will he need?

· Make some questions up of your own and write the correct answers:

Name 







Date 




DIVISION 4

· Answer the following questions:

1) Each brick has a length of 5cm.  How many bricks are needed to make a wall:

a) 1m long?

b) 2m long?

c) 3m long?

2) There are 52 wedding guests and each table seats 4 people.  

a) How many tables are needed?

b) 8 extra people arrive, how many tables are needed now?

c) 20 people leave early, how many empty tables are there?

3) A factory makes matches.  Each box contains 20 matches.  How many boxes are needed for:

a) 100 matches?

b) 200 matches?

c) 400 matches?

d) 600 matches?

4) Each train carriage holds 10 people.  How many carriages are needed for:

a) 100 people?

b) 1000 people?

5) Farmer Smith has 600 cows.  100 cows fit into each field.

a) How many fields does Farmer Smith need?

b) Half of the cows have 2 calves each, how many cows are there now in total?

c) How many fields does Farmer Smith need now?

6) Uptown school has 240 pupils, each class has 30 pupils.  

a) How many classes are there?

b) 90 new pupils join the school, how many classes are needed now?

c) Each class has 3 teachers, how many teachers are there in total? 

· Make some questions up of your own and write the correct answers:
Name 







Date 




DIVISION 5

On Fresh Farm eggs have to be packed into cartons each day.  Each carton can hold six eggs.  The table shows how many eggs were laid for each day of one week

· Complete the table to show how many cartons can be filled for each day and how many eggs will be left over.

	Day of Week
	Number of Eggs
	Number of cartons filled
	Number of eggs left over

	Monday
	30
	
	

	Tuesday
	24
	
	

	Wednesday
	31
	
	

	Thursday
	50
	
	

	Friday
	41
	
	

	Saturday
	19
	
	

	Sunday
	52
	
	


The milk is put into churns that can hold 10 litres

· Complete the table to show how many churns are filled each day and how much milk is left over

	Day of Week
	Litres of milk
	Number of churns filled
	Litres of milk left over

	Monday
	60
	
	

	Tuesday
	55
	
	

	Wednesday
	58
	
	

	Thursday
	64
	
	

	Friday
	71
	
	

	Saturday
	59
	
	

	Sunday
	75
	
	


· Answer the following questions:

1) Farmer Fresh sells his eggs at market for £1 

a) He receives £36, how many boxes did he sell?

b) He doubles the price of each box, how much does each box cost now?

c) He receives £62, how many boxes did he sell?

2) Farmer Fresh charges £5 for a litre of milk.  He receives £45, how many litres did he sell?

